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Çàäà÷à 1

Íàéòè íàèáîëüøèé îáùèé äåëèòåëü d ÷èñåë a = 60 è b = 35. Íàéòè òàêèå

öåëî÷èñëåííûå x è y, ÷òî ax+ by = d

Çàäà÷à 2

Ðåøèòü ñèñòåìó {
5a+ b ≡ 12( mod 36)

8a+ b ≡ 13( mod 36)

Çàäà÷à 3

Ðåøèòü ñèñòåìó {
2x+ 3y ≡ 1( mod 29)

x+ 4y ≡ 4( mod 29)

Çàäà÷à 4

Ðåøèòü ñèñòåìó {
2x+ 89y ≡ 23( mod 127)

12x+ 31y ≡ 2( mod 127)

Çàäà÷à 5

Ðåøèòü ñèñòåìó {
2a+ b ≡ 18( mod 55)

6a+ b ≡ 24( mod 55)

Çàäà÷à 6

Ðåøèòü ñèñòåìó {
2x+ y ≡ 4( mod 17)

5x− 5y ≡ 9( mod 17)
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Çàäà÷à 7

Ðåøèòü ñèñòåìó {
2x2 + y ≡ 5( mod 23)

x− 3y ≡ 7( mod 23)

2


